Chemical Equilibriom
. 3ome chemical reactions a@ Reversible

reactonts —¥ products forwaord reaction
Nz(q) + 3Hzcq) = Z2NH3¢q)

ceactants ¢— products reverse. reaction
Nz) + 3Hz(Q) 4= ZNH3(9)

You can show oo reversible reaation hy using o
DouBkeE ARROUV

Nz@) + 3Ha9 = 2NHz(q)

- Equilibrium. occurs whan.. .

the rote of the forunrd reaction egumls +he rote O‘Q
Yhe reyerse, reaction.

@ equilibrium

-The conantration of reactonts ¢ products

R ST N
. The, concantration of reactonts ¢ produets

do NOT” hauve 10 he eguol.

. conwntrotion of reactont con be wriHen os [reactant]
-same w/ products

© Writing an equilibriom expression
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Examples

(1) Necq) +3 Heq) = 2 NH‘3(9}
2
yg%:; CNHa |
CNa [ H, 1%

(2)  ZS0z(Q) + Qeeq) = 2S03¢q)
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(3 H0@) + Os) 2 He + 0@)
L CH.0

@) HOW = H'Mag) + OH'T@q)
Keq = [H"J0H"]

5)  aHMl©@Q) + CalH)aq) = HOW) + Co i, ag.)
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Ex
()  ZNOW 4+ M@ = 2N0U

calculode Keg i [ NOY %CUz] .0230M, and
CNOCIT = 5oou is +@wjof?eu‘er§€’@"rlon
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M = 450 xlO“{{jl
() 203(9) = 3z o| L1

Heq. = 03[ and £053= Ll XI5, ecuwan COz]
~ohich reaction 5 Pavored 2 Abuietas.

g - EO&J 031 = [XT 3W3j7’5

Cos & Q6xi0™T: 019 -
W0z56 + 03 [= W "
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(8)  Nz204Q) = 2N0ecq)

g 7. 212 and Hee is - 043%5 mol N0z dissoled in.50L.
codewlote CN2043. whickh reoction is fauvored ?



